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xy, Ty E 100 b3k ($1_$2)(k($1)_k(x2)) =0
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and A4 )% 1
AAEE T3 /3 2 dx:L(l—ln(iie—G)) 10
= v . fl@) 4a
4-1
S 5
1 3t
M) hiz)=2¢ (x)—4= %Iz—x—élé T3t} 10
9
M h(1) ==& Fa 5
4-2 H A H A — 4 215 B
(2) F24E 5 t=2xg (:L‘)i 2 84 & 5
2
(2)/ (ief(z))h(x)dx—%l—gi T3t} 20
1 \dz 2
(2) p+2qg=—42 T3t} 5
(a), (B)2FH 0<d < lnc+1% 73k 10
E(z)g 73} 5
K(z)= 08 3937 991 £(22)+e> 08 dag 5
4-3 r)=U=s 51 10 = 3 U .
(a), B)25E c <12 F8} 10
1 }
d9el Hol —& Tt 10
e
7 A g
[4-1]

5 2 1 3{ 1 1}
‘/;f(x)d$_4a L lz—2 T dz

[4-2] (1)

= %(1—ln(3e—6))°l‘ﬂr.
a
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[4-2] (2
flz)=2xg (x)°]2L t =2xg (x) & xlﬂo}oa A B 3w

i ) dx— '(:c)—4)(2g'(x)—2xg"(m))62”,(9”)dx

I—/ (?E—8)etalt=5efl—g
2 2¢"(1) 2

ot} wehA p:5,q:—%015§ p+2q=—4°]t}.

[4-3]

)l o8 k(x)e F7HdFolmz 274 (a)9 k(2)=Inc—d+1=> 0% HAolty. 1y

0<d<Inct+1o°lt}h

(o)l o] =h

S @) —e— £ ()
(et f(x))e™

olm & xzﬁoﬂ g8l flz)+c>00lth 1A k'(2)

1

(&
> 0% F(x)zef($)—c—f(:c)20 sxol1, Flz)e =244 HLHS
F2)=1—c=09%% SHoth. F c<1oth mA Szt s 9499 yHole
/I(lnx—kl)dw:lolﬂr.
e

>0

E(x)=

ot 0 <d<Inct+122HH ¢>

e
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